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Question Number : 1 Question Id : 583224403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used for modulation and demodulation?
Options:

1 « modem

> % protocols

5 % gateways

4 w multiplexers

Question Number : 1 Question Id : 583224403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Requests made by the web browsers are responded by:
Options:

; % URL

> « Web Server

= % HTTP

4 % WebPage

Question Number : 2 Question Id : 583224404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3T FEA AN T AT et W garr gfaarg faar s g

Options:
, IINTS (URL)

1
> of Q?I'T«qéT
5 R U=TETEraT (HTTP)

4 ® aﬁ%



Question Number : 3 Question Id : 583224405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Online textual talk. in real time. is called:
Options:

; % Downloading

> w Surfing

5  Chatting

, » Conferencing

Question Number : 3 Question Id : 583224405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 583224406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The e-mail system that supports audio is known as:
Options:

1 % Sound mail

> « Voicemail
z # Conversation
4  Messaging

Question Number : 4 Question Id : 583224406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 583224407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SIM is an abbreviation used for:
Options:

. % Subscriber Identity for Mobiles

- % System Information for Mobiles
-  Subscriber Identity Module

4 % System Identity Module

Question Number : 5 Question Id : 583224407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 583224408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following subgroups contain "Paint"?

Options:
1 « Accessories

- % MS-Office
- % Entertaimment
4 % Games

Question Number : 6 Question Id : 583224408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 583224409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is CORRECT regarding Freeware?

Options:
1 % It is also known as Free Software

- % It does not permits redistribution
- It does not permits modification

4 » Itisdistributed with a minimum licensing fee

Question Number : 7 Question Id : 583224409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 583224410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For selecting all the contents of a page. we press

Options:

1 ¢ Ctl+ A
> % Alt+A

3 % Shift + Z
4 ® At +Z

Question Number : 8 Question Id : 583224410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 583224411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ctrl + M provides:

Options:

, w highlighting the selected section
- % inserting link

5 » pasting the copied object

4  Indentating the paragraph

Question Number : 9 Question Id : 583224411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 583224412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For moving the cursor to different Windows Explorer pane. we use key.

Options:
1 ® F1l

o B F3
2 o Fo
EE F&

Question Number : 10 Question Id : 583224412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 583224413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

shift + F7:

Options:

, w refreshes the page

- % display the print preview

-  Tuns a thesaurus check on the word highlighted

4 # saves the document

Question Number : 11 Question Id : 583224413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 583224414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

.0 is a domain ID used for:
Options:

1 # commercial firms

o o listed companies
z # NGO's

4 % government organizations

Question Number : 12 Question Id : 583224414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 583224415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
To redo the last action performed. we press

Options:

, % Shift+L
Shift +Y
 Chl+Y
Cal+ Y+R
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Question Number : 13 Question Id : 583224415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Shift + L
. % Shift + Y
2w Crl + Y
L% Cl+Y +R

Question Number : 14 Question Id : 583224416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The protocol which provides information about text and binary files that are organised in a
menu structure is:
Options:
, % HTITP

> % FTP
5 % POP
4 « TCP/P

Question Number : 14 Question Id : 583224416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = HTTP
> % FTP

- % POP
4 v TCPIIP

Question Number : 15 Question Id : 583224417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Alt + Enter:
Options:
, w opens the control menu for current window

o o Opens properties window of selected program
5 % Opens advanced find window

4 % opens the run window

Question Number : 15 Question Id : 583224417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alt + Enter:

Options:
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Question Number : 16 Question Id : 583224418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Excel, the simplest way of moving data from one location to another is by:

Options:
1 % INCI conmumands

-  drag and drop method
5 #% Iouse

4 % shortcut menu

Question Number : 16 Question Id : 583224418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 17 Question Id : 583224419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



By . text can be made more attractive in different colours, size and shape.

Options:

1 « WordArt

> % Picture

- % WordArt text box

4 % Mail Merge

Question Number : 17 Question Id : 583224419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 « WordArt

> # Picture

5 » WordArt ST S50
4 % Mail Merge

Question Number : 18 Question Id : 583224420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You organize files by storing them in

Options:

1 # Archives
> « Folders
= % Indexes
4 # Lists

Question Number : 18 Question Id : 583224420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 # Archives

5 « Folders

= # Indexes

4 % Lists

Question Number : 19 Question Id : 583224421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Just below the formatting bar. there is:



Options:

1 # Task bar
> « Tool bar

= % Formula bar

4 % Scroll bar

Question Number : 19 Question Id : 583224421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The quickest and easiest way in MS-Word. to locate a particular word or phrase in a
document is to use the command.

Options:
, % Replace
> « Find

5 % Lookup

4 % Search

Question Number : 20 Question Id : 583224422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = Replace

o Find
- % Lookup

4 % Search

Question Number : 21 Question Id : 583224423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Ethernet. LAN, Token Bus are types of:

Options:
1 ® WAN
> % Communication Channels

, % Physical medium

Question Number : 21 Question Id : 583224423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 583224424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One can use any SIM in a GSM mobile phone. This is due to the fact that it is a
system for mobiles.

Options:

, « global

> % local

= % code division

4 % multimedia

Question Number : 22 Question Id : 583224424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 23 Question Id : 583224425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol provides e-mail facility among different hosts?

Options:
1« SMTP

> % FTP
5 ® TELNET

Question Number : 23 Question Id : 583224425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

| v SMTP
. % FTP

- = TELNET
4 % SNMP

Question Number : 24 Question Id : 583224426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet uses:

Options:

, « Dbacket switching

- % circuit switching
5 » telephone switching

4 » telex switching

Question Number : 24 Question Id : 583224426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 25 Question Id : 583224427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Transfer of files from user's computer onto server is:

Options:
, » downloading

o % sequencing
5 # accessing

4 v Uploading

Question Number : 25 Question Id : 583224427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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3TITRAT F FIeT H W T FISal & FUHACROT T FAT FEt 87
Options:

| % ET3ASIET
o % WreFITHEeT
5 % USFHIHT
4 o TSNS

Question Number : 26 Question Id : 583224428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A device which links two networks together is a
Options:

| « Dridge

> # rectifier

z # hub

4 % switch

Question Number : 26 Question Id : 583224428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I8 f2arsg =1 &, S 2 AT F TF gy F F:Er 27
Options:

1 v BB
g_wﬁcﬁl'ﬂ?
z % B9
4.%%?[

Question Number : 27 Question Id : 583224429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A spam is a
Options:
1 #% corrosion in motherboard

o « anelectronic junk mail

= % alist of rules

4 % amalicious program

Question Number : 27 Question Id : 583224429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 583224430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an office, for connecting different computers, which one device must be used?

Options:
1 % Modem

> « Hub

- % Tlelephone

4 % Amplifier
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 583224431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

A roufer acts like a
Options:

1 # hub

- % switch
o o bridge
4 % lepeater

Question Number : 29 Question Id : 583224431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 583224432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the program or the service that let you view e-mail messages?

Options:
1 ® web browser

> o e-mail clients
%z % e-mail ID

4 % Internet
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Correct: 1 Wrong: O
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Question Number : 31 Question Id : 583224433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The server on the Intermet is also known as:
Options:

, = Repeater

- « Host

5 % Gateway

4 % AND gate

Question Number : 31 Question Id : 583224433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 583224434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A word m a webpage that. when clicked, opens another document is called:

Options:
1 % Anchor

5 o Hyperlink
=z % Reference
4 % URL

Question Number : 32 Question Id : 583224434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 33 Question Id : 583224435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
A two way videophone conversation can be carried out by:

Options:
, w Telephonic Conference

-~ % Chatting
5  Video Conferencing

4 % Vvideo Player

Question Number : 33 Question Id : 583224435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 34 Question Id : 583224436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A technology that divides a radio frequency into time slots is:

Options:
1 v TDMA

> % CDMA
2 ® WLL
4 % Switching

Question Number : 34 Question Id : 583224436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 35 Question Id : 583224437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



While sending an e-mail, the line lets you add recipients for a message.

Options:
1.¢ CC

> % Subject
= % Contents

4 ® To

Question Number : 35 Question Id : 583224437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 583224438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Central Processing Unit:

Options:

, % 1s operated from control panel.
- % 1is controlled by input data.

- % controls only the storage.

4 « controls all input. output and processing.

Question Number : 36 Question Id : 583224438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 37 Question Id : 583224439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following utilities speeds up the disk by rearranging the files and free space
on the system?
Options:
1 #% Anti-Virus

> % Text Editor

- « Disk Defragmentator

4 » Compression utility

Question Number : 37 Question Id : 583224439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 38 Question Id : 583224440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
All the logical operations are carried out by:

Options:
1« ALU

> ® CU
=z % Monitor
4 % Plotter
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Question Number : 39 Question Id : 583224441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
server stores and manage files for network.

Options:
1 % Authentication

> % Main
= % Web
4 « File
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Question Number : 40 Question Id : 583224442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Files when deleted are moved to:
Options:

1 % Trashes

> % Outbox

5 # My documents
s Recycle Bin

Question Number : 40 Question Id : 583224442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fFdle fFv S & geEg wiser H TaaNd & S1ar 2
Options:

1 % EQT

o % HI3ZHTHH

a
L « T SEHEHCH
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Question Number : 41 Question Id : 583224443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following contains files as well as subfolders?
Options:

1 = File

5 % Group

5 % Software

4 « Folder

Question Number : 41 Question Id : 583224443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=afEa 7 o Fud wee g2 gewest onfae g8 &2
Options:

g M TR

o W W

S_QW
4 v PIEST

Question Number : 42 Question Id : 583224444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

USB is categorized under Ports. It is used:
Options:

, w tocomnect internal devices of computer

- u forstoring data

5 o tocomnnect external devices to the computer

4 » for image editing

Question Number : 42 Question Id : 583224444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
USB &I 9IH & 3Id?Id Jefiehd fohdT 71T g1 ST TAET ohall ST &

Options:

|y T Y Al RawEt 7 o 7 & e
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Question Number : 43 Question Id : 583224445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Word. replace option is available on:

Options:
1 % File menu

> % View menu
3 « Edit menu
4 % Format menu

Question Number : 43 Question Id : 583224445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Word #H, Replace fa&eT H 390 &l
Options:

| File 3

View 33'7'!\

> R

. Edit 3

. Format A=
g4 * o

Question Number : 44 Question Id : 583224446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a non impact printer?

Options:
1 « Dot Matrix

~ % Laser
5 x Inkjet

4 # Thermal

Question Number : 44 Question Id : 583224446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
SAH T FiT T TF AF-SHIFe WeT 787 &2
Options:

. v Tic AfEFw
2 % EER
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Question Number : 45 Question Id : 583224447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Multimedia Software incorporates images.texts.sound.animations etc. whereas Graphics
Software incorporates only:

Options:

|  Images

- % sound

- % animations

4 % Video sequences

Question Number : 45 Question Id : 583224447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ASHITRTT TUeddT H ©iadl, dFEe, e3fey, viasee fe & onfae &g aar &, s+
Iy AT H Fad I onfEe BT Smar g

Options:

| v B

> % €3

z B yEP=EiC)

4 % Jifsar dreae

Question Number : 46 Question Id : 583224448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To shrink a window to an icon:
Options:

, % oOpena group window

> o minimise a window

= % maximise a window

4 % restore a window

Question Number : 46 Question Id : 583224448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TF S A TF HEFS H BF = F
Options:

| x T g &S @
, o s & A &
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Question Number : 47 Question Id : 583224449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For a mic to work on vour COlllplltEI'. 1t must possess:

Options:
1 % ethernet

o R NIC
5 « sound card

4 % graphic card

Question Number : 47 Question Id : 583224449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT FTYI W ATHIBIT & FH A & [0, TE BT R

Options:

> % NIC
S.uﬁ*mm
4 R Ihes &S

Question Number : 48 Question Id : 583224450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the following statements and select the correct alternative which are given below.

1. Both read and write operations can be performed in RAM.
2. RAM is a volatile memory.
Options:

1 « Both 1 and 2 are correct

> % Only 1 is correct

- % Only 2 is correct

4 % Neither 1 nor 2 are correct

Question Number : 48 Question Id : 583224450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L 1 TF 22w §

o x I 1 TR

5o A 2 WE R
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Question Number : 49 Question Id : 583224451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To contact people using internet. you most often use their:

Options:
1 % domain names

> « e-mail address
3 % Usernames

4 w Dpasswords

Question Number : 49 Question Id : 583224451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FLAT FT ITANT FLF ART T TIF A & (oI, HT I 345 FT 3TART FJ 8

Options:

| % SIHES AT
L » SHS Tar

L
5 % 39ARTRAT ATH

4_-%3':"-\5!3_5;';

Question Number : 50 Question Id : 583224452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is not a pointing device?
Options:

1 ®% Mouse

> # Joystick

- » Lightpen

4 w Keyboard



Question Number : 50 Question Id : 583224452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SAH W FiF T TF Trsfe Oy 7@ 872
Options:

1_-%3m

g_wshm

5. F'”Eem

4 v HETS

Question Number : 51 Question Id : 583224453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

are the devices to transmit data over teleconmununication lines.
Options:
1 % drives

> w drive bays

=  modems

4 % platforms

Question Number : 51 Question Id : 583224453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
, TEAR oMEaT T 32T FIE = & 00 59097 H A= aer e #

Options:

% X9
2 ® geT a5
5 v Fw
4 % TICHIH

Question Number : 52 Question Id : 583224454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What type of network connection is not a way of connecting to the Internet?
Options:

1 « TCP/IP

> % Dial-up
=z # ISDN

4 ® g B |



Question Number : 52 Question Id : 583224454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SAH ¥ FiT T ATF FARIdA, SeTAT ¥ Faac Flad F Tah dLUHT FJar 87

Options:

. v TCP/IP
5 % STIA-HT
s % ISDN
g4 T1
READING COMPFREEHERMSTONM
Section Id : 58322444
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322444
Question Shuffling Allowed : Yes

Question Id : 583224455 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension



Good project management establishes the arrangements for directing. managing and
controlling a project or change initiative in a way that maintains a focus on. and
delivers. the intended benefits. It is an important skill. particularly as so much of our
work falls into discrete engagements with specific outcomes. Project management is
a widely recognised professional discipline. and as a consequence there is a range of
professional development courses available both within and outside organisations.

Typically. project management comes into use when a temporary organisation is
required in order to deliver a specific output within a defined timescale. It falls
within the group of disciplines which may be used to prioritise. coordinate and
manage change at all levels within an organisation.

The standard methodology follows the five stages of a programme — Strategy and
Assess. Design, Construct. Implement and Operate and Review — but the simplified
approach within this module follows Start. Plan. Do and Finish. The first of these
stages is often the most intensive —leading to sign-off for the project.

A project officer 1s critical to manage a programme or a project. Typically. for a
larger programme or project because of its sheer scale. this role is taken up by a
Project Management Office comprising of a number of experts. The key roles of a
Project Manager or a Project Management office include the following:

* planning and status reporting

* risk. issue. assumption and dependency management

* business case development. monitoring and benefits realisation planning
* supporting effective project (and programme) governance

* document control and configuration management

* change control

* project management support.

Sub questions

Question Number : 53 Question Id : 583224456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Good Project Management as per the author dose not lead to:

Options:

| « Directing a project
- % Managing a project
5 ® Controlling a project

, % Completion of a project

Question Number : 54 Question Id : 583224457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why does the author feel that project management is an important skill?
Options:

| « Asitisawell paying job



- % Project managers are difficult to find
- % Asalarge part of our work falls into discrete engagements with specific outcomes

4 % Project management is a difficult skill

Question Number : 55 Question Id : 583224458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per the author, why is Project Manager replaced by a Project Management Office
(PMO) for larger projects?

Options:

, = Because of the scale of engagements

-  Because of more efficient specialists in a PMO
- » Project Managers may not be specialist

4, % Project Managers may need to be paid more to manage the project

Question Number : 56 Question Id : 583224459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per the Author, what are the five stages of a project?

Options:

, % Strategy and Access. Design, construct. Implement and Operate. Review

o « Start, Plan. Do, Review. Finish

- % Access, Design. Do. Operate. Finish

4 % Start, Design. Do, Operate and finish

Question Number : 57 Question Id : 583224460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not the role of a project Manager?

Options:

, w Planning and reporting

> % Change control

5 o Business case development

4, % Evaluation of project

Question Id : 583224455 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 583224456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v U SR F @l
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5 % T IRASAAT F FgEor
4 % UF TRITSAT F TATTA

Question Number : 54 Question Id : 583224457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 583224458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 583224459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IWF F HFAR, TH INASAA F T= TOT HiA-hia & &2

Options:
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Question Number : 57 Question Id : 583224460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S5 U @i T U GRANTAT e & AT 8T 87

Options:

% ST v e
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OUANTITATIVE AFPTITULE
Section Id : 58322445
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322445
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the 12th term of the A P with first term as 3 and the comumon difference of 87
Options:

1 % 00

>« 91

= % 83

4 ® 107

Question Number : 58 Question Id : 583224461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3 TAET AU #1297 9 47T 29T, 58T 997 9 3 & 3T &F U2l & Heg & a7 8 &7
Options:



1 = 99
2 v 91
2 % 83
4 % 107

Question Number : 59 Question Id : 583224462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Find the value of (1024)17 + (1024)*10 + (512)17.
Options:

1.4 2

> #% 14

= % b

4 ® 7

Question Number : 59 Question Id : 583224462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
(1024)1° + (1024)%10 + (512)1° FFr 77 F7 HTA
Options

1 2

- % 14

2 % B

4 % 7

Question Number : 60 Question Id : 583224463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Find the value of xyz. ifa=0b% b = ¢, ¢ =a%
Options:

1 ® 0

> #% 2

3¢ 1

4 % -1

Question Number : 60 Question Id : 583224463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Xyz & AT A9 fifad, afga=bX, b =Y, ¢ = &2
Options:

1%-$D

2&32



3¢ 1

4 % -1

Question Number : 61 Question Id : 583224464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Two isosceles triangles have equal angles and their areas are in the ratio 16 : 9. The ratio of
their corresponding heights will be:

Options:
1.9 312

I
L]

o W

= % 4:3

Question Number : 61 Question Id : 583224464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST FHEfETE RISl & 0T FAH & TUT 3K aTFhel F HIA 16:9 Bl IR FIA FarsAr
T 3T BT

Options:

1 w32
> ® 2:3
z % 4:3
4 % 34

Question Number : 62 Question Id : 583224465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a and b are the roots of the equation of 4x? + 4x - 28 = 0.then
a* + b? equals to:

Options:

1 & 22
- % 44
= % =22
4 % -44

Question Number : 62 Question Id : 583224465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T a 3R b THERT 4+ 4x-28=0 F FF &, T a° + b® TET g

Options:

1_;;“22



o ® -22
g4 ® -44

Question Number : 63 Question Id : 583224466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A person on the ground observes his wife at the window of his apartment in a

building making an angle of elevation of 45° when he is 30 m from the apartment
building. What is the height of the window from the ground?

Options:

; ® 309¥3m

5 % 30(1+V3)m
z o 30m

4 % 30 (1-V3)m

Question Number : 63 Question Id : 583224466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AT 9T ST UF g T SART H 9 HNUICHT Hr [@=H 97 @S 39T IoaAT Fr 45
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Options:

; % 30 V3 #HAET

. % 30 (1+V3) #H
5 « 30 #ART

4 = 30 (1-V3) HreT
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Section Id : 58322446

Section Number : 4

Section type: Online
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Number of Questions: 4

Number of Questions to be attempted: 4

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322446

Question Shuffling Allowed : Yes



Question Number : 64 Question Id : 583224467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If X and Y are sisters. whereas A and B are a married couple. Y is the sister of A. How is
X linked to B?

Options:

1 # Sister-in-Law
> % Brother-in-Law
=« Mother-in-Law
4 % Sister

Question Number : 64 Question Id : 583224467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

afE X IR Y sga 8, 3R A TuT B v oméer S F Y, AFraga §, A X, B ¥ faw

Options:

1, ® 9g

- ® a%?né-
o o HIH
4 aﬁ

Question Number : 65 Question Id : 583224468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the wrong number in the series 3, 15, 35. 63. 101.

Options:
1 ® 15

2 35
= % 101
4 B 63

Question Number : 65 Question Id : 583224468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
of@eT 3, 15, 35, 63, 101 & Ield HE&T A1 F|

Options:

; = 15
> « 35
z & 101
4 % B3




Question Number : 66 Question Id : 583224469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Pie Chart provides you the details of the movies seen by Ram last year. In case the
number of comedy movies watched this year has increased by 5, how many comedy
movies did Ram watch this year?

Movies watched in a Year (50)

m Sci Fi

® Drama
m Comedy
© Action

B Romance

10%

Options:
. ® 1.10

2 o 5
z ® 15
EE 20

Question Number : 66 Question Id : 583224469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Id : 583224470 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (67 to 69)
Juestion Label - Comprehension

The figure below provides the details of the year wise percentage net profit of a
company. Answer the questions based on the information available.
(Consider that Profit = Income - Expenditure)

Net Profit of the Company (%)

70

60 60

50

40
35 35

= \/

20 20

10

Profit %

Sub questions

Question Number : 67 Question Id : 583224471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the Expenditure was 100 Crores across all years, in which year the company made
minimuwn mcome?

Options:

1 ® Year 2

Question Number : 68 Question Id : 583224472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the Net Profit Percentage is given by (I-E)/E *100. where I is Net Income. E is
Expenditure then for the year 1 what is the approximate expenditure incurred if the value
of Net Income is 100 Crores?
Options:

1 % 78 Crores



-~ % 05 Crores
= « 74 Crores
4 % 00 Crores

Question Number : 69 Question Id : 583224473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the net Income in the Year 4 is 25 Lakhs. what was the expenditure in that year. if Net
Profit percentage = (I - E)/E *100 and Net Profit = I-E , where E is expenditure and I is
Net Income?

Options:
1 % 16 Lakhs

> % 16.33 Lakhs
3 « 16.67 Lakhs
4 % 15 Lakhs

Question Id : 583224470 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Number : 68 Question Id : 583224472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 69 Question Id : 583224473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofg =t ¥ & e o= 3T 25 9@ B, a7 3§ a9 7 =97 faer am 3fg o= amv gfoee
= (I - E)/E +100 &7 o[ &1sT = | - E &), ST E =77 ¢ Jol & 317 2

Options:
| % 16 &d

., = 16.33 =@
- v 16.67 =@

4 ® 15 &g
GEMNEREAL AWARENESS

Section Id : 58322447
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 58322447
Question Shuffling Allowed : Yes



Question Number : 70 Question Id : 583224474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was the 7th BRICS summit held?
Options:

, % Ufa. Russia

» w Fortaleza, Brazil
5 « Shanghai. China

4 % Rio De Jeneiro, Brazil

Question Number : 70 Question Id : 583224474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 583224475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solar Impulse 2 is:
Options:

The name of a solar powered plane that recently broke the record for longest non stop solo
, % flight record for a solar powered plane

» % Anew hollywood movie by Steven Spielberg

5 # Anew book by Steven Hawking

4 + Name of India's Mission to Pluto

Question Number : 71 Question Id : 583224475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR SF9eH 2 FT 272

Options:
1 %

v Ol FaT gefoa Tas &1 5w, Tws g & 7§ v it F=r oo Bae & ggo o=
ATA-TS1T Helr 33T &1 s Jr=r 2

, T T £ v A% geigs Ged




. « Fas gierer 1 T 79 faramw
. v T TE F AT ana & e & oA

Question Number : 72 Question Id : 583224476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which number is being planned to be developed as the National Women helpline?

Options:
1 % 911

> % 112
5 oF 111
4 % 131

Question Number : 72 Question Id : 583224476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 583224477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not true about the New Development Bank?

Options:

, « It assigns votes based on capital Share

- % It doesnot allow any member to have a veto power
- % Is headquartered in Shanghai. China

4 % K.V. Kamath is the President of the Bank

Question Number : 73 Question Id : 583224477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 583224478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which country recently reduced the age for voting from 20 Years to 18 Years?

Options:
1 « Saudi Arabia

- % China
5 % Japan
4 % South Korea

Question Number : 74 Question Id : 583224478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 583224479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country has recently reported the first successful bionic eve implant?

Options:
1 % USA

-~ % UK
3 # Cuba

4 Japan

Question Number : 75 Question Id : 583224479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 76 Question Id : 583224480 Question Type: TYPING TEST Display Question Number : Yes

Omne of the biggest questions to be answered is, can we provide cheap sources of irrigation to marginal farmers
in the remotest part of the country? With an aim to address the problems associated with irrigation for small
and marginal farmers, XY¥Z Inc. has invested an amount of £ 280 million researching innovative irrigation
models across the world. It has collated and developed a repository of local innovations across the world. A
technology recently promoted by it focuses on rural innovation in water managerment with the launch of its
treadle purnp called "Jal Jeevan" The product has been introduced through ¥YZ2's "Kheti ko badaana he”
portfolio which is a sustainable business model that addresses the fundamental needs of those living at the
base of the economic pyramid and creates solutions to help therm grow. The word "Jal Jeevan” originated from
the word "Water and Life" or which highlights the relationship of life with water The innovation in focus is the
treadle purnp, which is a foot-operated device and can pump water from shallow aquifers or surface water
bodies such as ponds, tanks or tube well from a maximum depth of 20 feet. The Jal Jeevan Pump represents
an innovative global, OEM-engineered solution for rural water management rieed of small holder farmers. The
purmnp does not require electricity and is easy to operate with minimal number of remaovable parts and no
additional tocls required. The treadle pump does not burden the farmer with additional cost. It is expected that
marginal farmers may find it much easier to embrace the technology. However, other issues such as » Access
to surface water or shallow ground water e Maintenance cost of treadle pumpse Availability of spares The
potential of the pumps will be limited by its inability to help in drawing water from deep wells. Howewver, it will
be interesting to note, if the treadle pumps can reduce the cost of cultivation by a significant margins.
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